®8 HWTHINIBY. ERXEBZVCUERHEEE — XERE (TR21%)

(BEEHAALLE)

BTTE T WHEEH| RERKLEHESE BTHE TEH| RESH| WERBFES
(T18) (A) (FMA) (Ti5) (AN) (FA)

AGEE —TEH 6 207 559,072 Ak A Z T H 6 38 28,866
XKHFEERE ZTH 12 236 535948 || &= — T B 1 28 x
XKHFEER =ZTH 6 51 69560 | &= —TBH 2 51 X
KHHE WMTH 14 131 123017 |f &= =TEH 9 201 287,193
XKHFER RETH 12 83 86296 [fF &£ W TH 2 48 X
AX&m —TEH 29 295 258883 | £ AE T H 2 118 X
K#%Fm ZTBH 36 346 408909 || &= AN TH 4 49 65,863
XK#HFEm =TEH 33 311 392803 || = £ TEH 7 66 81,129
K#H&dE WMWTH 25 259 581,732 || &= /\THE 21 229 267,351
b 16 143 181,029 it £ — T B 4 44 63,592
X&H —TEH 16 134 228482 |t £ Z T B 5 46 45,647
K#&ESD —TH 7 211 396,188 it £ =T B 9 89 81,745
KFEh =TH 7 52 63411 |t £ m®TAH 1 7 X
K#Hm —TH 33 423 445351 ||t £ H T B 4 82 104,766
X#AE —TH 24 327 396634 it £ AT H 3 14 16,834
XK#HFEA =TH 13 280 784761 [t £ + T B 2 32 x
KFEA ™WTH 29 624 1014851 |t £ J\T B 11 140 206,350
XK#HFEA ATH 10 94 75319 ||REE —TEB - - -
K#HEAE AKTH 1 7 mEE ZTH 105 2078 8,047,070
XK#HFEA £TH 16 440 2195691 [R/EE =TBH 5 76 487,343
XK#Hd —TH 2 15 X # —TBH - - -
A#Hdk ZTH 1 4 XE & ZTBHB - - -
K#%Zd =TH 5 31 26,140 & =TBE 1 17 X
KFd mTH 1 4 XK # mTH - - -
K#%ZFd ETH 3 52 475K B ETEH - - -
K#HEd KTH 5 53 174073 || #& KT H 1 92 X
ABEAH—TEH 5 65 139383 [fm e —TH 3 48 618,893
ABEAHNZTEH 3 24 23084 kEE B ZTH 43 949 2,226,207
THME —TEH - - -|BEE =TE - - -
THME ZTEH - - -|BEE mMTE 13 266 883,324
EHE =TH - - -|BEE ETE - - -
THME ®TH - - -|EEE ATEHE - - -
EHE ETH - - -|HEE tTE - - -
EHME KRTEH - - -|X #F #h X & 705 10,871 29,129,033
BiE —TH 8 171 671457||== & [ 1 10 X
BiE —TH 7 166 539244||7 | i) 1 5 X
W F —TEH 1 4 x|t 38 iig) 1 4 X
W EF - TH 2 24 X8 B 3 & 4 54 41,071
W ¥ =TBH 3 34 45832||B B i 77 A& BT 1 6 X
W F ®MTEH 3 49 105499 | HE S — T B 5 46 28,055
EHMOFELAE - - -|BERHA=TE - - -
BEA —TH 8 81 89838|HEHH =T B - - -
HEA ZTH 2 16 x|HE S HETE - - -
mEA —TH 3 24 2433||EHEAAETE 2 54 X
mEA ZTH 3 70 83304 & K 17 H - - -
BEA =ZTH 3 27 28125l DK — T H 3 20 22,147
mEXA mTH 2 12 EgnA ZTH 7 67 278,869
EEA RATH 1 5 DK =TH 6 44 59,211
BEA KTH 3 17 129131+ & —TE 5 66 72,968
b FiA —TH 2 11 I+ & =ZTBH 24 334 455,217
b EA =ZTH 4 34 56512||F B =T H 2 8 x
b EA =TH 4 93 92530|[F A ME—TH 1 10 X
mEA —TH 6 220 1317937 A MR =T H 4 28 35415
wmEA ZTH 4 50 68841||A MR —TH 2 33 X
tEA —TH 2 53 AR ZTH 13 204 313,043
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BTH T REEH ﬂﬁnﬂn:ﬂﬁ@ﬁ%" BTHE IE#| RESH WERLTEHESE
(T15) (A) (FA) (TiB) (AN) (FA)
ANE =TH - - & ® — T8 9 52 38,854
ANE MTH 2 8 W& & = TEH 6 92 138,202
ANE ETEH 7 148 138229 |l#k &= =T H 13 192 266,288
ANE KRTEH - - —[EEAEM —TEH 14 162 238,556
BmTER —TEH 3 29 20,961 [BRAM ZTH 9 62 54,350
BmTER ZTH - - —[EEAEM =TEH 13 153 189,083
BFHE =TH - - —[FEAE —TEH 17 164 223,961
dtFER —TEH - - —[FEAE =ZTEH 18 180 275,594
dtFER ZTEH 2 60 X|FEAE =TH 20 464 708,051
dtFxE =TH 2 18 x||7E 75 480 TH 25 335 422,844
AJIIET —TH - - —|[FEAE —TEH 21 284 390,768
AJIIET ZTH - - —[FEAE =ZTEH 30 323 375,861
i £ —TH 20 196 232085 |[EE/AM =TH 33 361 884,129
i £ —TH 27 729 727,389 [[{h <8 — T B 13 90 65,823
HEA —TEH 1 24 XA —TH 7 96 178,565
HEAX ZTH 3 36 42,962 [ < =TBH 4 39 40,077
HESN =TBH 3 29 27210 [[fh R4 T B 5 58 52,638
HEA MWTEH - - HFTHrF —TH 16 208 303,066
HEA ETH 3 41 58942 [FHF ZTH 38 658 1,515,959
BMEA —TEH 1 17 FTHF =TEH 7 57 54,072
BME® ZTH - - (FTHF mWTE 11 365 1,101,698
BESN =TH - - &= o —TB8 19 319 424,039
BEA MWTEH 1 17 = O =—TBH 31 326 425,247
HEA ETH 4 32 23098 % O =TBH 35 850 1,308,432
& —TH 4 37 70734 |[lEx0 —TEH 2 12 X
tit&d Z—TEH - - HExo =TBH 7 71 89,693
tith&d =TEH 8 59 59321 [[lE&<0 =TBH 4 30 29,329
t#ts WTH - - HZENnN — T8 13 145 185,891
t#& ATH 9 88 104231 ([ZE)JI ZTEH 32 751 1,855,880
R oM XAt 182 2,561 3548609 A —TH 5 31 36,540
Hitn —TEH 28 422 746,566 [[(REH =T H 17 312 457,006
Hits = TH 11 289 584783 |[FgEH — T H 9 77 108,312
Bt =TH 13 174 338,666 |[FEEHE —TH 26 228 268,715
Hits ™WTH 19 283 267439 |[FEHE =TEBH 12 103 144,307
HitHs ETEH 36 520 1485880 |[FEH A — T B 3 21 19,710
HHtHn ANTEH 15 333 1,114,751 |[EEHE = TB 3 38 20,641
e —TH 9 72 61,692 |FEEH =TB8H 3 40 39,238
wits —TH 24 297 553719 |[FTEEH M T B 4 41 27,295
wits =TH 27 233 322,106 |[FTEEH HTE 3 43 80,722
wmHts mTH 9 67 68424 [FEEHE ANTH 1 8
t#ts —TH 22 206 208387 ||FE#EHR +TH 1 5
¥tas =ZTH 13 165 275631 [ E J\NTH 2 26
¥ OB B H 10 107 133076 [ A — T B 11 183 228,318
B H —TEH 16 139 195452 |5 B —TEH 2 11 x
B B =TEH 6 30 26923 H =TBH 6 42 36,731
B B =TEH 3 14 11,855 |5 H M T H 6 30 33,828
B H mTH 8 63 488478 H ETH 3 85 68,957
B B ATEH 3 19 12,343 fEEA AR — T B 5 95 148,800
B B KTEH 5 48 36,222 [[EEHABIZTHE 3 63 82,314
APFH —TEH 30 282 1012410 || H —THB 2 9 X
AFE —TH 43 539 922552 | E —TH 3 16 7,691
AFME =TH 8 112 187,949 |[gis B =T B 8 76 84,339
FHZEE—TH - - -1 B #h X i 968 12,896 22.427,723
PHZEE-TH - - |
FHZEE=TH - - & it 1,855 26,328 55,105,365
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